






(A)200 (B)180 (C)220 (D)240 (E)260

What approximate value  should come in the place of question mark(?)in the following 
questions.

129% of  649  − 24.87² = ?

E04613



(A)21 (B)23 (C) 26 (D)18 (E)29

What approximate value  should come in the place of question mark(?)in the following 
questions.

212 × 89 − 32 × 55 = ?³

E04613



(A)250 (B)270 (C)290 (D)320 (E)220

What approximate value  should come in the place of question mark(?)in the following 
questions.

143.88% of 384 = ?% of 149 + 10.96²

E04613



(A) 1070 (B)1040 (C) 1010 (D)970 (E)940

What approximate value  should come in the place of question mark(?)in the following 
questions.

87.22² + 61.79² = ?% of 899 + 41.88²

E04613



(A) 1230 (B) 1290 (C)1260 (D)1140 (E)1170

What approximate value  should come in the place of question mark(?)in the following 
questions.

23³ − 56²  = ?% of 695

E04613



Directions (Q. 6-10):-Study the following information carefully and answer the 

questions asked. In the following bar graph, four persons P, Q, R and S are selling 

items on different days of the week.

निम्ननिखित जािकारी का ध्यािपूर्वक अध्ययि करें और पूछे गए प्रश्न ों के उत्तर दें।
निम्ननिखित बार ग्राफ में, चार व्यखि P, Q, R और S सप्ताह के नर्निन्न नदिन ों में आइटम बेच रहे

हैं।
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(A)5:2 (B) 5:3 (C)2:1 (D)13:9 (E)None of these

Q.6 :- What was the ratio of item sold by P on Sunday and items sold by S on Saturday?
P द्वारा रनर्र्ार कन बेची गई र्सु्तऔर S द्वारा शनिर्ार कन बेची गई र्सु्तओों का अिुपात नकतिा
था?
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(A) 40% (B)55.55% (C)25% (D)180% (E)None of these

Q.7 :- Items sold by S on Sunday is what percent of item sold by Q on Tuesday?

रनर्र्ार कन S द्वारा बेची गई र्सु्त, Q द्वारा मोंगिर्ार कन बेची गई र्सु्त का नकतिा प्रनतशत है?
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(A)600 (B)720 (C)775 (D)650 (E)None of these

Q.8 :- What is the average of the items sold by P, Q and S on Monday, Tuesday and 
Saturday respectively?
P, Q और S द्वारा क्रमशः सनमर्ार, मोंगिर्ारऔर शनिर्ार कन बेची गई र्सु्तओोंकाऔसतक्या
है?
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(A)17:11 (B)15:11 (C)16:17 (D)15:8 (E)None of these

Q.9 :-Find the ratio of the sum of items sold by P on Saturday and Tuesday to that of the 
items sold by S on Saturday and Sunday?
शनिर्ारऔर मोंगिर्ार कन P द्वारा बेची गई र्सु्तओों के यनग का शनिर्ारऔर रनर्र्ार कन S द्वारा
बेची गई र्सु्तओों के यनग से अिुपात ज्ञात कीनजए?
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(A)1320 (B)975 (C)1152 (D)996 (E)None of these

Q.10 :- P sold certain items on Wednesday, which was 60% of the total items sold by S on 
Monday and Tuesday both. Find the items sold by P on Wednesday.
P िे बुधर्ार कन कुछ र्सु्तएँ बेची ों, जन S द्वारा सनमर्ारऔर मोंगिर्ार दनिन ों कन बेची गई कुि
र्सु्तओों का 60% था। P द्वारा बुधर्ार कन बेची गई र्सु्तओोंका पता िगाएों ।
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What should come at place of the question mark (?) in the following number series ?

11 . 233 , 269 , 205 , ? , 161 , 357 

(A)305 (B)315 (C)288 (D)295 (E)144

E04613



What should come at place of the question mark (?) in the following number series ?

12 . 12 , 14 , 32 , 102 , ? , 2090

(A)354 (B)416 (C)294 (D)434 (E)444

E04613



What should come at place of the question mark (?) in the following number series ?

13 . 13 , 29 , 48 , 70 , 95 , ?

(A)132 (B)121 (C)113 (D)133 (E)None of these

E04613



What should come at place of the question mark (?) in the following number series ?

14 . 2 , 2 , 7 , ? , 87 , 342

(A) 21 (B)26 (C)23 (D)24 (E)22

E04613



What should come at place of the question mark (?) in the following number series ?

15 . ? , 286 , 134 , 58 , 20 , 1

(A)600 (B) 590 (C)580 (D)570 (E)560

E04613



Directions (Q. 16-20):-Study the information carefully to answer the questions that 

follow.

In a school there are total 120 staff members and 800 students. 65 per cent of the 

number of staff members are teachers and the remaining staff members are 

administrative officials. Out of the total number of students 45 per cent are girls. 

Twenty per cent of the number of girls can speak only Hindi. The remaining girls can 

speak both Hindi and English. Three-fourths of the number of boys can speak only 

Hindi. The remaining boys can speak both Hindi and English. Two-thirds of the 

number of teachers are males. Five fourteenths of the number of administrative 

officials are females.

एक सू्कि में कुि 120 स्टाफ सदस्यऔर 800 छात्र हैं। स्टाफ सदस्यनों की सोंख्या का 65 

प्रनतशत नशक्षक हैं और शेष स्टाफ सदस्य प्रशासनिक अनधकारी हैं। कुि छात्रन ों में से 45 

प्रनतशत िड़नकयाों हैं। बीस प्रनतशत िड़नकयाों केर्ि नहोंदी बनि सकती हैं। बाकी िड़नकयाों

नहोंदी और अोंगे्रजी दनिन ों बनि सकती हैं। िड़कनों की सोंख्या का तीि-चौथाई केर्ि नहोंदी बनि

सकता है। शेष िड़के नहोंदी और अोंगे्रजी दनिन ों बनि सकते हैं। नशक्षकनों की सोंख्या में दन नतहाई

पुरुष हैं। प्रशासनिक अनधकाररयन ों की सोंख्या का चौदहर्ाों नहस्सा मनहिाएों हैं।



Directions (Q. 16-20):-Study the information carefully to answer the questions that follow.

In a school there are total 120 staff members and 800 students. 65 per cent of the number of staff members are 

teachers and the remaining staff members are administrative officials. Out of the total number of students 45 

per cent are girls. Twenty per cent of the number of girls can speak only Hindi. The remaining girls can speak 

both Hindi and English. Three-fourths of the number of boys can speak only Hindi. The remaining boys can 

speak both Hindi and English. Two-thirds of the number of teachers are males. Five fourteenths of the number 

of administrative officials are females.



(A) 164 (B)178 (C)188 (D)174 (E)None of these

Q.16 :-What is the difference between the number of boys (student) who can speak both 
Hindi and English and the number of girls (student) who can speak both Hindi and 
English?
नहोंदी और अोंगे्रजी दनिन ों बनििे र्ािे िड़कनों (छात्र) की सोंख्याऔर नहोंदी और अोंगे्रजी दनिन ों बनििे
र्ािी िड़नकयन ों (छात्र) की सोंख्या के बीच का अोंतर नकतिा है?



(A)350 (B)300 (C)400 (D)450 (E)None of these

Q.17 :-The total number of girls (student) is what percentage of the total number of staff 
members in the school?
िड़नकयन ों (छात्र) की कुि सोंख्या सू्कि में स्टाफसदस्यनोंकी कुि सोंख्या का नकतिा प्रनतशत है?



(A)16 (B)12 (C)18 (D)14 (E)None of these

Q.18 :-What is the difference between the total number of female administrative officials, 
female teachers and the number of male administrative officials?
मनहिा प्रशासनिकअनधकाररयन ों, मनहिा नशक्षकनोंकी कुि सोंख्याऔर पुरुष प्रशासनिक
अनधकाररयन ोंकी सोंख्या के बीच का अोंतर नकतिा है?



(A)11:56 (B)13:54 (C)13:56 (D)11:54 (E)None of these

Q.19 :-What is the ratio of the total number of teachers to the number of boys (student) who 
can speak only Hindi?
नशक्षकनोंकी कुि सोंख्या का केर्ि नहोंदी बनििे र्ािे िड़कनों (छात्र) की सोंख्या से अिुपात नकतिा
है?



(A)125 (B)115 (C)127 (D)117 (E)None of these

Q.20 :- What is the total number of male administrative officials, female teachers and girls 
(student) who can speak only Hindi?
पुरुष प्रशासनिकअनधकाररयन ों, मनहिा नशक्षकनोंऔर िड़नकयन ों (छात्र) की कुि सोंख्या नकतिी है
जन केर्ि नहोंदी बनि सकती हैं?



(A)2750 (B)3250 (C)4250 (D)4500 (E)3500

Q.21 :-The average expenditure of Sharma for the January to June is Rs 4200 and he spent 
Rs 1200 in January and Rs 1500 in July. The average expenditure for the months of 
February to July is:
जिर्री से जूि के निए शमाव काऔसतिचव 4200 रुपये है और उसिे जिर्री में 1200 रुपये
और जुिाई में 1500 रुपये िचव नकए।फरर्री से जुिाई के महीिन ों काऔसतव्यय है:



(A)210 (B)185 (C)140 (D)168 (E)None of these

Q.22 :-A boat takes 26 hours for travelling downstream from point A to point B and coming 
back to point C midway between A and B. If the velocity of the stream is 4 km/hr and the 
speed of the boat in still water is 10 km/hr, what is the distance between A and B?
एक िार् धारा की नदशा में नबोंदु A से नबोंदु B तक यात्रा करिे और A और B के बीच में नबोंदु C पर
र्ापसआिे में 26 घोंटे का समय िेती है। यनद धारा का रे्ग 4 नकमी/घोंटा है और शाोंत पािी में िार्
की गनत 10 नकमी/ घोंटा, A और B के बीचकी दूरीक्या है?



(A)4 3/4 (B) 3 3/4 (C)3 2/3 (D)4 2/3 (E)None of these

Q.23 :-A tap can fill a tank in 6 hours. After half the tank is filled, three more similar taps 
are opened. What is the total time taken to fill the tank completely?
एक िि एक टोंकी कन 6 घोंटे में िर सकता है।आधा टैंक िरिे के बाद, तीिऔर समाि िि
िनिे जाते हैं। टैंक कन पूरी तरह से िरिे में निया गया कुि समय नकतिा है?



(A)80 (B)60 (C)100 (D)90 (E)None of these

Q.24 :-The largest and the second largest angles of a triangle are in the ratio of 3:2 
respectively. The smallest angle is 20% of the sum of the largest and the second largest 
angles. What is the sum of the smallest and the second largest angles?
एक नत्रिुज के सबसे बडे़और दूसरे सबसे बडे़ कनणक्रमशः 3:2 के अिुपात में हैं। सबसे छनटा
कनण सबसे बडे़और दूसरे सबसे बडे़ कनणन ों के यनग का 20% है। सबसे छनटे और दूसरे सबसे
बडे़ कनणन ोंका यनगक्या है?



(A)2 (B)6 (C)3 (D)8 (E)4

Q.25 :-Sangram bought 30 kg of wheat at the rate of Rs 9.50/kg and the same amount of 
wheat at the rate of Rs 8.50/kg and mixed them. He sold the mixture at the rate of Rs 
8.90/kg. Find his total profit or loss in the whole transaction.
सोंग्राम िे 30 नकिन गेहों 9.50 रुपये प्रनत नकिन की दर से िरीदाऔर उतिा ही गेहों 8.50 रुपये
नकिन की दर से िरीदाऔर उन्हें नमिाया। उसिे नमश्रणकन 8.90 रुपये/नकग्रा की दर से बेचा।
पूरे िेि-देि में उसका कुि िाि या हानि ज्ञात कीनजए।



THANKS


